Date

Name
1. Solve.
a. 4141 b. 542
3 3 4
c. 2432 d 2+732
6 8

2. Complete the number sentences.

3. Draw a number bond and the arrow way to show how to make one. Solve.

a. 2242 b. 3242 c. 4242
5 5 3 3 6 6
N AN AN
5 5
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4. Solve.

3 3 6 4
a 2=+ = b. 3=+ -
5 5 8 8
4 3 7 6
c 5-+ = d —+6—
6 6 10 10
5 9 g8 11
e — +8= f. 7—+ =
10 10 12 12
9% . 58 60 79
g. 3— + — h. — +14—
100 100 100 100

8 3 8 2 1 1
5. Tosolve 4—+—, Carmenthought, “4—+—=5,and5+—==5=-"
10 10 10 10 10 10

3

10
— = + =
10

Benny thought, w2, 42=4 + = =5 Explain why Carmen and Benny are both right.
10 10 10 10 10
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Answer Key

1L a 42 4. a 3=
3 5
3 2
b. 57 b. 4=
c. 4 C. 61
6
d 8 d. 71
10
6 10
b. = £ gL
7 12
7 48
C. g g. 4&
d < h. 15—
12 100
3. a. Number bond and arrow way used to 5.  Explanations will vary.

make one; 3%

b. Number bond and arrow way used to
make one; 4%

c. Number bond and arrow way used to

3
make one; 53
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